OMB 1845-NEW1 - 150% Direct Subsidized Loa	n Limitation					
Respondent Type	Requirement	# of Respondents	# of Responses	Hours/Response	Total Hours	Description
Section A: Burden by Affected Entity						
Federal Government						
Individuals or Households						
Burden increases associated with this final regulation.						
Student receiving entrance counseling explaining new provisions	34 CFR 685.304(a)(6)(xii)	2,723,751	2,723,751	0.03	81,713	
Student receiving exit counseling explaining new provisions	34 CFR 685.304(b)(4)(xii)	2,699,275	2,699,275	0.05	134,964	
Sub-total		5,423,026	5,423,026	0.00	216,676	
Private Sector Business or other for-profits						
Burden increases associated with this final regulation.						
Proprietary institutions - provide entrance counseling to students explaining new provisions	34 CFR 685.304(a)(6)(xii)	2,164	2,164	1.00	2,164	
Proprietary institutions - provide exit counseling to students explaining new provisions	34 CFR 685.304(b)(4)(xii)	2,164	2,164	1.50	3,246	
Proprietary institutions - additional reporting to the COD system	34 CFR 685.301(e)	2,164	450,804	0.02	9,016	
Proprietary institutions - additional reporting to NSLDS - institution uses enrollment servicer	34 CFR 685.309(b)	2,342	4,684	0.25	1,171	
Proprietary institutions - additional reporting to NSLDS - institution does not use enrollment servicer	34 CFR 685.309(b)	691	1,382	0.50	691	
	5 · 5 · · · · · · · · · · · · · · · · ·	331	1,502	0.00	331	
Sub-total		9,525	461,198		16,288	
Not-for profits						
Burden increases associated with this final regulation.						

Not-for-profit institutions - provide entrance						
counseling to students explaining new						
provisions	34 CFR 685.304(a)(6)(xii)	1,750	1,750	1.00	1,750	
Not-for-profit institutions - provide exit						
counseling to students explaining new						
provisions	34 CFR 685.304(b)(4)(xii)	1,750	1,750	1.50	2,625	
Not-for-profit institutions - additional reporting to						
the COD system	34 CFR 685.301(e)	1,750	559,860	0.02	11,197	
Not-for-profit institutions - additional reporting to						
NSLDS - institution uses enrollment servicer	34 CFR 685.309(b)	1,894	3,788	0.25	947	
Not-for-profit institutions - additional reporting to						
NSLDS - institution does not use enrollment						
servicer	34 CFR 685.309(b)	559	1,118	0.50	559	
	,		,			
Sub-total		7,703	568,266		17,078	
State, Local, or Tribal Governments						
Burden increases associated with this final						
regulation.						
Public institutions - provide entrance counseling						
to students explaining new provisions	34 CFR 685.304(a)(6)(xii)	1.933	1,933	1.00	1,933	
Public institutions - provide exit counseling to		,	,		,	
students explaining new provisions	34 CFR 685.304(b)(4)(xii)	1,933	1,933	1.50	2,900	
Public institutions - additional reporting to the	(1)(1)(1)(1)(1)(1)(1)(1)(1)(1)(1)(1)(1)(,	,		,	
COD system	34 CFR 685.301(e)	1,933	1,308,718	0.02	26,174	
Public institutions - additional reporting to	(0)	_,	_,-,,-			
NSLDS - institution uses enrollment servicer	34 CFR 685.309(b)	2,092	4,184	0.25	1,046	
	0.1.01.11.000.000(8)	2,002	1,201	0.20	1,010	
Public institutions - additional reporting to NSLDS - institution does not use enrollment						
servicer	34 CFR 685.309(b)	618	1,236	0.50	618	
561 11661	0 1 01 11 000.000(8)	010	1,200	0.00	010	
Sub-total		8,509	1,318,004		32,671	
		0,000	2,010,004		02,071	
Section B: Burden Impact Totals						
Total		5.448.763	7,770,495		282,713	
		-,,	.,,		===,:==	
CURRENT INVENTORY						
Current # of Respondents		0				
Current # of Responses			0			
Current Inventory of Hours					0	
REVISED # OF RESPONDENTS		5,448,763				
	1	., ., .,				

REVISED # OF RESPONSES			7,770,495			
REVISED # OF BURDEN HOURS			1,110,433		282,713	
TEVICED II OF BOTTSETT TOOTS					202,710	
TOTAL # RESPONDENTS		5,448,763				
TOTAL # RESPONSES		0,110,100	7,770,495			
TOTAL # HOURS			.,,		282,713	
					202,120	
Difference					282,713	
					- , -	
Section C: Burden by Regulation Group						
1. 34 CFR 685.304(a)(6)(xii) - entrance						
counseling explaining new provisions						
Individuals						
Students receiving entrance counseling						
explaining new provisions	34 CFR 685.304(a)(6)(xii)	2,723,751	2,723,751	0.03	81,713	
Private Sector						
Business or other for-profits						
Proprietary institutions - provide entrance						
counseling to students explaining new						
provisions	34 CFR 685.304(a)(6)(xii)	2,164	2,164	1.00	2,164	
Not-for profits						
Not-for-profit institutions - provide entrance						
counseling to students explaining new						
provisions	34 CFR 685.304(a)(6)(xii)	1,750	1,750	1.00	1,750	
State, Local, or Tribal Governments						
Public institutions - provide entrance counseling	04.055.005.004(.)(0)(.;)	4 000	4 000	4.00	4 000	
to students explaining new provisions	34 CFR 685.304(a)(6)(xii)	1,933	1,933	1.00	1,933	
TOTAL 34 CFR 685.304(a)(6)(xii) - exit counseling explaining new provisions		2 720 500	2 720 500		87,560	
counseling explaining new provisions		2,729,598	2,729,598		87,500	
2. 24 CED 60E 204/b\(6\(\frac{1}{2}\) and access the						
2. 34 CFR 685.304(b)(6)(xii) - exit counseling explaining new provisions						
Individuals						
Students receiving exit counseling explaining						
new provisions	34 CFR 685.304(b)(4)(xii)	2,699,275	2,699,275	0.05	134,964	
TIOW PIOVISIONS	0- 01 11 000.504(b)(4)(All)	2,033,273	2,033,273	0.05	104,304	
Private Sector						
Business or other for-profits						
Dusiness of other for profits						

Proprietary institutions - provide exit counseling	24 CED COE 204(b)(4)(4)(4)	2.104	2.164	1.50	2.246	
to students explaining new provisions	34 CFR 685.304(b)(4)(xii)	2,164	2,164	1.50	3,246	
Not-for profits						
Not-for-profit institutions - provide exit						
counseling to students explaining new						
provisions	34 CFR 685.304(b)(4)(xii)	1.750	1,750	1.50	2,625	
providence	C : C: : : CCC:CC : ((2)(!)(/!!!)	2,.00	2,.00	2.00	2,020	
State, Local, or Tribal Governments						
Public institutions - provide exit counseling to						
students explaining new provisions	34 CFR 685.304(b)(4)(xii)	1,933	1,933	1.50	2,900	
	(,,,,,,	,	,		,	
TOTAL 34 CFR 685.304(b)(6)(xii) - exit						
counseling explaining new provisions		2,705,122	2,705,122		143,734	
3. 34 CFR 685.301(e) - additional reporting to						
the COD System						
Individuals						
Private Sector						
Business or other for-profits						
Proprietary institutions - additional reporting to						
the COD System	34 CFR 685.301(e)	2,164	450,804	0.02	9,016	
Not-for profits						
Not-for-profit institutions - additional reporting to						
the COD System	34 CFR 685.301(e)	1,750	559,860	0.02	11,197	
State, Local, or Tribal Governments						
Public institutions - additional reporting to the						
COD System	34 CFR 685.301(e)	1,933	1,308,718	0.02	26,174	
TOTAL 34 CFR 685.301(e) - additional						
reporting to the COD System		5,847	2,319,383		46,388	
4. 34 CFR 685.309(b) - additional reporting to						
NSLDS						
Individuals						
Private Sector						
Business or other for-profits						
Proprietary institutions - additional reporting to						
NSLDS - institution uses enrollment servicer	34 CFR 685.309(b)	2,342	4,684	0.25	1,171	

Proprietary institutions - additional reporting to NSLDS - institution does not use enrollment servicer	34 CFR 685.309(b)	691	1,382	0.50	691	
Not-for profits						
Not-for-profit institutions - additional reporting to NSLDS - institution uses enrollment servicer	34 CFR 685.309(b)	1,894	3,788	0.25	947	
Not-for-profit institutions - additional reporting to NSLDS - institution does not use enrollment servicer	34 CFR 685.309(b)	559	1,118	0.50	559	
State, Local, or Tribal Governments						
Public institutions - additional reporting to NSLDS - institution uses enrollment servicer	34 CFR 685.309(b)	2,092	4,184	0.25	1,046	
Public institutions - additional reporting to NSLDS - institution does not use enrollment servicer	34 CFR 685.309(b)	618	1,236	0.50	618	
TOTAL 34 CFR 685.309(b) - additional reporting to NSLDS		8,196	16,392		5,032	